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Monday — Lesson 1
Subtracting Decimals with the

same number of decimal
places



Subtracting decimals with the same
number of decimal places

Use a ploce value chart and counters to help you complete

the subtractions.

Tens

Tenths Hundredths

O Q000 ,0000 000

OO00

a) 14.83-12.12=

b) 14.83 - 12.14=

c) 14.83-12.92 =

d) 14.83-12.94=

e) Which calculation was easier? Talk about it with a partner.

f) What happens when you don't have enough counters in a

column to take away?

o Complete the sentences.

1 ten can be exchanged for

Ones.

1 ene can be exchanged for

tenths.

1 tenth can be exchanged for 10

)

o Annie is calculating 2.42 - 1.17 using the column method.

She uses a place value chart to help her.

Tenths Hundredths
Q0 00 0000 w12
OO0 0 17
QOO 25
How does the place value chart support the column method?
Talk about it with a partner.
o Complete the column subtractions.
a) <)
5+6 | 4 9
| 34+1 |2 - 1
b) d)
5+6 | 4 0| 2
- | 3 1 5 - 2 8




e Whitney has £8.52 IE..FE. E-E oM o Ron and Dora are doing a sponsored walk.

, , Ron walks 3.12 miles.
She buys this comic.

Dora walks 5.49 miles.

How much money does she have left?
How much further does Dora walk than Ron?

Dora walks miles further than Ron.
£
o Tommuy has three pieces of string.
o Here are some items for sale in a shop. ® The first piece is 0.78 m long.
# The second piece is 0.24 m shorter than the first piece.
# The third piece is 0.07 m shorter than the second piece.
What is the total length of all three pieces of string?
£2.27 £4.91 £1.09 Give your answer in metres and centimetres.
a) How much more does a scarf cost than a bag of marbles?
m and o
£ o A, B and C are points on a number line.
b) Esther has £15.31
She b ir of headph dab f ble A B ¢
e buys a pair of headphones and a bag of marbles. 118.76 159,72 186.34
How much money does she have left?
1 I 1T
100 200
£ How much greater is the difference between A and C than the
difference between B aond C7

€) Tom hos £7.01
He buys one item and has £5.92 left.
What did he buy?

Compare methods with a partner.

Tom bought . [




Tuesday — Lesson 2
Subtracting Decimals with a

different number of decimal
places



Subtracting decimals with a different ¥ \prath o comolete the subtractions.
number of decimal places '

a) c)

o LUse the place value chart to help you work out the subtroctions.

Tenths Hundredths

000 000 @e0¢ K ?
e L X 1 J 6L1 s 2 ata

a) <) - 3 2] - 341 2

o Use the column method to work out the subtractions.
a) 13.59 - 1.82 €) 5.6-1.39

b} d)

b) 73.84 - 9.2 d) 182 -3.64

o Alex is using counters to help her work out 4.7 — 1.35

@

I can’t do this as I don't
have any hundredths counters.

Do you agree with Alex?
Talk about it with a partner. @
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o A plank of wood measures 2.6 m. o Work out the missing digits.

A carpenter cuts a piece of wood from the plank that is 0.52 m leng. —34-25_=10481

" 2.6 m >

a) What is the length of the remaining plank?

o Lse the column method to work out the subtroctions.

a) 14-2.7 d) 26 -3.91
m
b} The carpenter cuts a second piece of wood from the plank. @
She now has 0.3 m of the plank remaining.
What is the length of the second piece of wood that she cut?
b) 8- 3.65 e) 25- 3.842
m

o The mass of a bag of marbles is 54.3 g. @ ;:
These two marbles are removed from the baag. m c) 20 -2.85 f) 90 - 0.821

What is the mass of the bag of marbles now?




Wednesday — Lesson 3
Multiplying decimals by 10,
100 and 1000



Multiplying decimals by 10, 100 Math e Complete the multiplications.
and 1,000

a)
H T Tths Hths
4.1 = 100 =
4 1
o Complete the multiplications.
b)
a)
H T Hths H T Tths Hths 415 100 <
37=x10= 2 1 g 15 = -
b)
H T Hths <)
14.5 = 100 =
1 4 5
c)
H T Hths
1.58 = 10 =
8 d)
H T Tths Hths
d) 4.05 = 100 =
H T Tths Hths 4 0 >
13.06 = 10 =
1 0 6 What do you notice when you multiply a number by 1007
What do you notice when you multiply a number by 107 -@
o Complete the calculations.
o Complete the multiplications. a) 7.2 « 100 = d) 1.89 « 100 =
a) 1.7 = 10 = dl 134« 10=
b} 3.4 x 100 = e) 73.57 x 100 =
b) 1.75 x 10 = e) 10x 13.04 =
€) 19.5 % 100 = f) 1.317 = 100 =

) 1.73x10= f) 1304 x 10 =




o Amir has multiplied 3.8 by 1,000 o Complete the calculations.

a) 7.7 = =770 e) B.032 x = 80.32
The answer is 3.8000
b} = 10 = 1,950 ) x 18.3 = 1,830
ﬂ] Whﬂt mif‘tﬂkﬂ hﬂS Ar‘nir mﬂdE‘? {,.F 1.5 = =115 ﬂl 195.32 = = 1,953.2
d) x 11.5=11500 h) x 1,000 = 7,200

o Tommy is 1.4 m tall.
b) Work out the correct answer. 3.8 x 1,000 = . .
A tree is 10 times as tall as Tommy.
A building is 100 times as tall as Tommy.
o Complete the multiplications. a) How tall is the tree? m
a) 4.7 =10 = ) 5.84x10= b) How much taller is the building than the tree?
m
4.7 » 100 = 584 x 100 =
4.7 x 1,000 = 5.84 = 1,000 = o Match the multiplications to the descriptions.
b} 19.3 = 10 = d) 18.06 = 10 = = 10 = 10 multiply by 10
19.3 x 100 = 100 x 18.06 = X 10 %10 % 10
= 100 = 10 multiply by 100
1,000 = 19.3 = 18.06 = 1,000 =
x 10 x 100
How did you work out the answers? Talk to a partner. O:
4 % 10 % 1 multiply by 1,000




Thursday —Lesson 4
Dividing decimals by 10, 100
and 1000



Dividing decimals by 10, 100 and 1,000 ~— © compiete the divisions.

a)
H T Tths Hths | Thths
1 7 17 + 100 =
o Complete the divisions. b)
a)
- T Tths Hths H T Tths Hths | Thths 04+ 100 =
5+10 = 9 4 s
5
b) <)
H T Tths Hths o = —
1 p 15410 = s | Hths | Thths | 76 - 100 =
2 7 [
c)
H T Tths | Hths d)
38 +10=
3 B H T Tths Hths | Thths
32.5 + 100 =
d) 3 2 5
H T Tths Hths
; 3 s 138 + 10 = What do you notice when you divide a number by 1007
What do you notice when you divide a number by 107 .@/.
O cormolete the divisions.
a) 7+ 100 = b) 1098 + 100 =
o Complete the calculations.
a) 7+10= d) 16 +10= 7.2+ 100 = 10.9 =+ 100 =
b) 7.8+ 10 = a) 164+ 10 = 7.25 £ 100 = 10.95 + 100 =

<) 7.86 + 10 = f) 16.48 + 10 =




o Use a place value chart to work out 136 + 1,000 @

H T Tths Hths | Thths

1 3 B

Complete the calculation.

136 + 1,000 =

Talk to a partner about your method. O:
. _ 4

o Use your knowledge of measure to work out the answers.
a) What is the mass of the box in kilograms?

5 = ‘2,3-1{]9 \

b} What is the height of the sunflower in metres? T
+ = 235 om
w

¢} What is the amount of juice in litres?

o Complete the calculations.

a) 147 + 10 =

147 + 100

147 + 1,000 =

b) 21 + 10 =

21 + 100 =

21 + 1,000

o Complete the divisions.
a) 83 + = 0.83
b) + 10 =095
c) +10=39
d) 68 + = 0.068

c)

d)

e)

ag)

h)

3,200 + 10 =

3,200 + 100 =

3,200 + 1,000 =

5006 + 10 =

5,006 + 100 =

5,006 + 1,000 =

1,799 &

=17.99

178 +

+100=11.8

=178

318 +

=0.318




Friday
Note to Parents:

The Friday Challenge will be
made avallable on the White
Rose Year 6 Home Learning

page closer the time.



